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The figures in the right hand margin indicate full marks for the questions. 6.
SECTION - A
{GEOGRAPHY).
Marks — 27
Answer Question Nos. 1 and 2 in a sentence each.
1. Give one point of difference between disaster and hazard. - 1
i IR GBI TR CRAAl SrreR Ay |
o What type of non-conventional source of energy is widely usedinurban o
centres of Manipur nowadays ? 1
e e erfien Q- AR %ﬁﬁmﬁm 'ﬂtﬁ*ﬂﬁ% SRR G
ol % AN TE o FRCA 2
Answer Question Nos. 3 to 5 in about 30 words each.
3 Mention the two reforms recently introduced in the industrial sector of 8.
india. s 2
e TR e TR R CQueE R o oy TS | .
Contd.

83 RM 21 S/Sc. (N) 2

Suggest two means of transport that would be best suited for carrying
natural gas.and, a bulky machine from Delhi to Silchar. -2

fafamen e F1631 oG ST SR wﬁmm%{wm%m@ YA T
PRI (IS 2LAP-<fFAR NS TART TS |

Give two reasons why Manipur prefers o have a railway line from Jiribam
to Imphal over and above the existing airways and three National

. Highways. 2

TR o S AR SR I T S T AR T wiem
(RO SIS CETRET AR shel e A

Draw‘ a full page outline map of India, and locate and label the following :
: 112
TR A SRR G W (TG g W1 S s Core e sz 41 ¢
Mumibai High
TR W |
Answer Question Nos. 7 to 10 in about 50 words‘ each.

Mention the different memods of lmgation and the areas where they are
practised in India. . 53

TR (TR~ CSREMI! SLY-GERCIA 51\‘3"97\ R WCARIE AR A

TS |

Give the distinguishing features of Reserved, Protected and Unclassed

forests of India. ‘ ' ' '3

| oo RS, caletet S SEEht SRR cia wesfic oy OIS |
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9. Explain any three steps for conserving minerals. 3
ey P NdmRNTRe (O CIEAR W =TT TR |

10. How do industries cause air, water and land pollutions ?- 3
YR e, B enrge S W8 T NSRS SRR ORTHIC 2

Answer Question No. 11 in about 120 words.

1. Explain why the foodgrain production has remained stagnant in the last
few years in India. 3 5
wrrat (R SR ¥ S SR Rz-won e wh csiees A
R 2T MO TR |

Or
Explain the impact of globalisation on Indian agriculture by giving five
points. )
mm—wm%m@mmx@mm
2
SECTION - B
(HlstRV)_
Marks — 27
Answer Question Nos. 12 to 15 in about 50 wérds each.

12. In what ways the World War I affect the people of India ? 3
AR S Mene SRR Targ T CTRZARC ?
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13.

14.

15.

16.

T
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How did the Labour Unions emerge in England ? 3
Soverrn wam PO geifae cngsiRae 2

“Among the countries which fought in the First World War, Germany
was the most affected country.” Justify the statement. 3

oA e wans co LRl wwgen WA A g o 17

“wf g T e |

State the effects of the Japanese bombing of imphal in 1942. 3
1R TR 1942 7 wromm Lwre (AT AR 5T Frouhar %3

On the map)of India drawn as answer o question No. 6, locate the
places with names, where :

(a) the first session of the Indian National Congress was held and

(b) the 1920 (September) session of the Indian Natiorial Congress was
held. 1+1=2

s 7 6 N oSy G o TG o1 W, W carein weaby
=fiesn camae Beg o

(a) TFram o wer®l 2A-gaa Sew FRRn W, Sy

(b) 48R TP 1920 (T-bR) M AR R i@l Tees wffa ww |
Answer Question Nos. 17 to 19 in zbout 30 words each.

How did the Great Economic Crisis of 1929-1939 affect the British
industries ? Give two points. 2

OB o 20 pafie 1929 7 1939 Meww AR Wkl o~ G
3@ TR ereERRe 7 (Rt WA T |
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18.

19.

20.

22.
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Name the second and third Presidents of the United States of America.
2

it Sl s sl Aot wfePicg & o

"Today, the newspapers exiensively cover intemational, national and

locai events.” Justify the statement by stating two points. ' 2

g, #IG- ColIgAT AR o SRR e T G RIS =i wa e, 1

s SR i areen e e s Se |

Answer Question Nos. 20 and 21 in a sentence each.
Point out the non-democratic featlre of Magyarization in Hungary. 1
R cuBrRcerw RN seefhs (Romeive) ot (dhe % |

P 25

What is Satyagrana meant by Mahatma Gandhi 7 , 1
SaNaEs W ST P T A0 7

Answer Question No. 22 in about 100 words.
How did Germany become a unified country in 1871 ? 5
4B Pulfic 1871 v wuEl Gl oAl CErIE m'n SBRFTs 2

Or |

How was ltaly unified in 1871 ?
451 A 1871 Wi el oal S&A1 AAFRR=Ts ?
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23.

24.

25.

26.

SECTION-C
(POLITICAL SCIENCE)
. Marks - 13

Answer Question Nos. 23 o 25 )'n a sentence eachl.

Identify the social evil practice t_h'at still persists hurting the sentiments

. of low casts despite constitutional prohibition. 1

SRR W T Co AN G 5% Sl LA SRR vy IRl
R IS FAGA SRART TS |

Why federal power sharing has been more effective after 1990 than it
was in the past ? : . : 1

Wﬁ%ﬂ%mﬁwiggoﬁr w%mmw’sﬂmasﬁ%mﬁm@m ?

Identify the reason of the makers of the Indian Constitution to have opted
for a demaocracy. - ; 1

GRS ARAF CrifFIeT sieregy CETSITAR STl Y FRR Tl AN ¢8|
- Answer Queétion No. 26 in about 30 words.

“it is not politics that gets caste ridden, it is caste that gets politicised.”

. Prove the staternent by giving two reasons. . 2

‘i sefiE sERETen wUe, wf*trn-crrﬁﬁﬁ ARl V’wwﬁi‘gﬂi
TRAN TAT A AGA A |

Answer Question No. 27 in about 50 words.

Why did the Constitution declare India as a Union of States deliberately
avoiding the word ‘federation’ ? 3

H\ﬁﬁTﬁTWWﬁfaﬁwm AT mmmm@nwmﬁ
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Answer Question No. 28 in' about 100 words. Answer Question No. 33 in about 50 words

28. How can we say that dechracy is bétter than other non democratic

overnments ? ' 5
g ; : RN arm e .mﬁuﬁ TFSRAT FAY! CARAACA = IS |

TS TRH GTARAI SITEG AR CATRRT N Slerema ¥ 2R 2E ek ? ! :
' Answer Question No. 34 in about 100 words.

SECTION-D 4 34. Explain five functions of money.
(ECONOMICS) TR SO e T S W |
Marks — 13

Answer Question Nos. 29 to 31 in a sentence each.

29. Whatis the main reason behind high Infant Mortality Raté in developing 5 o
countries ? 1
preveaRa targhion wer FRA 51 2R wredn vawy IR 2

30. Define Human Development Index. _ 2
T (OSSR W 5 i T |

31. Give one argument in favour of Globalization. ' 1

c:mzaaﬁcemm Afdar wma T =" e oS |
Answer Question No. 32 in about 30 words

32. Analyse how the Indo Myanmar Trade Treaty as.a part of India’s Look-
East Policy transformed the economy of North-Eastern States including
Manipur. : 2

PR e TRF @ (T3 L8 el N g o <% Tom IR G R
TR TV G SRR =GR TS FCHLR CIALE! IR0 SO 2RI 2

mm@n

; . '
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33. Explain the variation in sectoral composition accross the Statas in India.

3



